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170000 cm? = | |m?

@17 @ 17 ® 170 @ 0.17 ® 1700

10000 cm? = 1 m?
170000 cm? = 17 m?
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1km? = 100 ha = 10000a = 1000000 m?
3km? = 300 ha = 30000a
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(8 +14) x 9 + 2 = 99( m?)




@ 6t = 6000000 g @ 500kg = 04t
@120000g = 1200kg @ 0.03kg =30g

® 7000g = Tkg

1t = 1000 kg = 1000000 g
® 120000g = 120 kg
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85, 83, 92| 87, 76, 93,
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(1252 Ba)=516 + 6 = 86(F),
(22F2] B)= 510+ 6 = 85(F)
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560 x 48 = 26880 (Y)
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26880 x 7 = 188160 ()
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1951 x 4 — (1789 + 2010 + 1899) = 2106( kg)
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(1) 16982 =[ |m?
2)126m% =[

(3)1080m2 = _|a
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la = 100m?

(1) 1698a = 169800m?
(2) 126m? = 1.26a

(3) 1080m? = 10.8a
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@ 24000m? = 2.4ha @ 150a = 1.5ha
@0.3 km? = 3ha @ 24000a = 2.4km?

® 3.6ha = 36000 m?

® 0.3km? = 30ha
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(1) 0.025ha + 0.018km? + 4la=[  |m?
(2) 24700m? + 31.6ha + 174a = |km?
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(1) 250 m? + 18000 m? 4+ 4100 m? = 22350 m?
(2) 0.0247 km? + 0.316 km? + 0.0174 km? = 0.3581 km?
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@ 100 m? @) 10000a ® 0.1km?

@ 1ha ® 10m x 100 m

B

Holo %98 BF m? B HH,
@ 100 m?

@ 10000a = 1000000 m?

@ 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?
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9kg - Dg

300g —» Qkg

58t =Qkg=®g
4600g = 4.6kg = Ot

@ 90000 @ 0.03 @ 58000

@ 58000000 ($)0.0046

1kg=1000g , 1t =1000kg , 1t = 1000000 g
@ 9000 @ 0.3 @ 5800 @ 5800000
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@ 30t 7190kg © 37290kg

© 38t @ 37980kg
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(45 4+ 48+ 43 + 42 +46 +42) = 7
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346 + 4 = 86.5 ()
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